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The distance of the point P (1, — 3) from the line 2y - 3x = 4 is
(AW13 (B)% (C)vi3 (D)13

The intercept cut off by a line from y-axis is twice than that from x-
axis, and the line passes through the point (1, 2). The equation of
the line is

(A)2x+y=4 (B)-2x+y=4  (C)2x+y=-4  (D)2x-y=4

Show that the points A(a, 0),B (0, b) and C(3a — 2b) are collinear

Find k so that the line 2x + ky — 9 = 0 may be perpendicular to 2x +
3y-1=0

Assuming that straight lines work as the plane mirror for a point,
find the image of the point (1,2) in the line *~>¥*4=0

Find the equations of the lines which pass through the point (45)
T=10

and make equal angles with the lines X ~12¥76=0gpd 3*=4¥=7

A line is such that its segment between the lines >*~>+4=0

and ¥+ 4~4=0jg bisected at the point '“*obtain its equation.




